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The figures in the margin indicate Jull marks
Jor the questions

1. Answer the following as directed : 1x8=8
et Faresz Sev fir -

(@) “Logic is the study of the methods and
principles used to distinguish correct
from incorrect reasoning.” Who made
the statement?

“om e Tom T A9 37 IR 97
T AR WF M ez e |\
YRR I (IiRe 2

(b) “Valid reasoning guarantees a true
conclusion.” Is the statement true or
false?

‘G Ifew 9B o) Py RIS fiy 1”7
FYRR € 7 ST ?
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(@)

(2)

Name the propositions where predicate
term is undistributed.

CR o W fora 3 Regw oo S
A

“The subject term of a premise will be
the predicate term of the conclusion.”
This is a rule of obversion/conversion.

( Choose the correct answer )

YR S ool Braes Rew m

(e)
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T3 17 (¥eh1 Al /e fAa |
( o Taach if Sfered )

In which figure of syllogism the middle
term is the subject term in both the
premises?

TR QFEG REES (R el
HIYIIGAC02, ST °i% 27 ?

DARAPTI/DATISI/DIMARIS/DARII is a
valid mood of which figure of syllogism?

( Choose the correct answer )

DARAPTI/DATISI/DIMARIS/DARII RS

(BT IR G344 ?
(% T3 Al Sferea )

( Continued )

(9)

)

(3)

In which ordered enthymeme both
premises are stated, but the conclusion
is left unexpressed?

QG T QRIS [ ST
TaRe =, {3 Frare serifis 2 Aice 2

Dilemma can be simple/complex/both
simple and complex.

( Choose the correct answer )

IoIR e /wfos /e e wfoa [l 2]
/M |

( &% Tetch! e Sferea )

2. Answer any six of the following questions :

2x6=12

were frml PR R e b e o

(a)

(b)
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What are the two conditions of a sound
argument?

951 7 (sound) & 56 151 & & 2
State two differences between material
truth and formal truth.

WIS TS HF ARG HJOH &S 4l
wo1 “1 o7 |
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)

(@)

(e)

(9)

(h)
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(4)

What is meant by ‘opposition’ in
Aristotle’s Square of Opposition?
RE’5 R eferas Ra’ e
@H?

Define syllogism.
TRR e |

How is ‘mood’ of a syllogism
determined?

I @SR ‘RePT’ @oeme R s =2

State any two differences between
immediate inference and mediate

inference.
ST S WF WG SR WS 4
R e o1 ~nefm o

Why is logic considered as a normative
science and not as a positive science?

HRam 1 e ReF 7>, I Rer
Roreec &= T ?

State briefly the nature of the structure
of argument.

Rex si5m-orf STof BT s |

( Continued )

(5)

(i) Define obversion.

AfSTET] igem fn |

() What is the literal meaning of ‘Sorite’?
‘Sorite’ WrERT &Y 2

3. Answer any four of the following questions :
S5x4=20
wore fa R R e it Ty o

(a) How does an argument differ from
an argument form? Explain.

T b1 I SR /1 AT 43T 2 ITAR
form

(b) Explain the differences between
deductive inference and inductive
inference.

o SR S S S WS X9

NYFPIR I <4 |

(c) Write a short note on distribution of
Terms.

g Mol o @i 5 G foran |

(d) What are the four kinds of Categorical
Propositions? Explain.

BIR oA faeers 36w 2 e w11
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(e) Mention the rules of syllogism and their
associated fallacies.

wfve 0z 4 (TP (fallacy)d T ford |

() What is Venn diagram? How are A, E,
I and O propositions represented by
means of Venn diagram?

@I a2 A, E, [ 91F O 7@ (oA foaw
TS e Afeffde s = ?

(g) Write a short note on Sorites.

PRI (Sorites) o af 5 G AT

() What are the kinds of hypothetical
syllogism? Explain.
Al faers TR AR [ 2 IR
feran 1

4. Answer any two of the following questions :
10x2=20
wero fiml eppTEd R P R T fordt :
(a) How are truth and validity related to
each other? Discuss.
ool W (IMT] ATRE OO (AR Too
2 AT 2 SCEoA 91 |
A25/816 ( Continued )

(b)

(©

(7)

Explain the different forms of Opposition
of Propositions.

o1 Reafor RiSw oo/ o T 47 |

Test the validity of the following
syllogisms with the help of Venn
diagram : 5+5=10
& P REE e i wEEdR
(syllogism) C3vet fefa 1 -

(i) All cows are grass eaters.
Some wild animals are grass eaters.
Therefore, some wild animals are
cows.
S SF =W PICra |
fogam 9w = = pereed |
SCT, Regare T &7 =/ o |

(i) No humans are cats.
All humans are mammals.
Therefore, no cats are mammals.
CRCAT TR =4 (A |
ST TR W O |
"Tﬁ"@, | ﬂﬁ =¥ TR |

(d) Explain Venn diagrammatic technique
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for testing the validity of syllogism.

e P TS TR (g9l @ewA AR
33 “1fR, o r=afecht Trm w41
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(8)

fe) What is Dilemma? How is Dilemma
classified? Illustrate. 2+8=10

ToIR R 7 FOURS CPCTIC IS T
=y 7 FFMX S 740
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